SET7
MODUL OPERASI ASAS

TAHUN 6
NAMA
SEKOLAH
1
S - (S
268 923
2 300 000 + 234
3 675432 dan 245321
4 543 252 + 269 458
5 | 468912 + = S 769 634
6 800 000 - 500 000
7 535 614 tolak 231 403
8 434 615 - 165 349
9

Berapakah lebih manik merah daripada manik biru?

MANIK MERAH MANIK BIRU
400 000 209 821

10 L] - 165723 = 214313

1 200 X 4

12 323 X 3

13 5674 X = @ 567 400
14 542 X = :] 542 000
15 6543 X 13




16

&~ - &, 312768 biji guli
Il

A

A

A

17 346536 + 24

18 34564 + 2176 X 2

19 2048 + 8 - 28
20 35 X (432 + 398)




